oIsc GOLF
@ METRIX

Linnamae 7. mooduvott
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1 | Jarmo Pool
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2 Tiina Kangsepp

3 Reimo Tamm
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2 | Mikk Kruusmaa

3 Talis Tamm

4 | Artur Pavlovski
5 | Eerro Eerik
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5 |Janar Tamm

83

5 | Ott Rootare
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5 | Kristjan Tiitsma
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9 |Jonas Jurimae
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23232, 2/4|4/3|/4|3|2/2|22/4|3|2/2|3/22|2,2,3|3|2
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4 | Dmitri TSerepanov |2 |3 |3 |2 |3(3/4/3|2/3|3|3/2/2(3/4/4|2(3|2|3/3/2|2,5/3|2

1 | Raido Kangsepp

2 | Andrus Notton

3 | Jorma Tamm

Linnamdée 7. mé6duvétt « 02.06.2024 19:41 (1)
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Hole-by-hole statistics

OISC GOLF
METRIX

| Jil2]slels]el7]slola]z 3 la]s 6]7]el9]1]2]3 a5 67 s o ro U
Par 3/3/3|3/(3/3/3/|3|3/3,3/|(3|3/3|3|3/3/3|3|3|3/3|3|3|3|3|3]|81

Avg

Difficulty 4 |15
Hole in one

Birdie -1 9 | 5

Par 0 6 | 8

Bogey 1 3

Double Bogey 2 | 1
Triple Bogey 3
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Linnamdée 7. mé6duvétt « 02.06.2024 19:41 (2)
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22| 8 | -0.2
1 | 0%
8 | 124 | 29%

10| 7 | 209 48%
5 75 | 17%
1 1 21 |5%
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